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IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
eflfleuren eflenL_wefl&@ D cuans eflammggmar

Read the following instructions carefully before beginning to answer the questions.
eflanésené@ eflanwellés Qer_m@h e SpEsamT 2ifle|amysameT SEUaTLONS Lilg&&eaLb.

& Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.
eflenL_sever GHILIGL Derar erarraniisemsadsE siflswns erpduimlde, elamjsreafar @nuien o drar
2ifls cramenflaanaulorer eflenL_ser wHUEE QewiiuLTg).

g In case of doubt, English version is the final.
eflamrésafler spCaaOmUden gpridle eugelld Gar@asuulHerer eflamésCer @miduireng).

SECTION A
LGS 2

Note : (1) Answer any SIX questions.
craneuCugnild ) eflaméaEnéeE ellenLweflEsa] L.
(i1) All questions carry equal marks.
creveurr ellemaa@nid §1o UG LTSET 2 L Wie.
(iii) = Each answer should not exceed 100 words.
- geauQeur( ellamellh@b 100 eurrsamssEnéd WaToe ellamLweflésab.
(6 x 4= 24)
|
T 1 Calculate the current and the resistance of a 100W, 200 V electric bulb in an electric
| circuit. :
@@ Wer &niled GuTmSsLUL(Heter 100W, 200 V Wenellarsdld Limuyd WerGearmi_i b Hmbd
s sarsd[Hs.
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The Father’ s age is six times hlS son’s age Six years ‘hence the age of father be four
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t1mes his Son’s age Find the present ages (1n years) of the Son and father -
bzl mmgrreurgﬂ e mu.nsmgu(ﬁurreu ..-%g;jmt_rmg S GLD. c%gum@x_mws@as@ ﬁlcurq gpmguﬁ]m .
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N o
What are the advantages of solar Energy? . N
T o s o " : ' _
- Giflw .;%ﬁ)pgaﬂsh ;r;s'mmm&smm &BD&E l o

H1gh11ght the obJectlves of Home Rule Movement
I

g,errrmm_é]((g'ar_orrm @a)) @u_iasssfssﬁm @rj]s;Ga;rraTa;maT aS]eu rﬂssa;sqm

r
Mentron\ the plantatlon crops of India.’ 1

@‘mglurraﬂm(ﬁg,rn_l_uuuﬁ]rraamms;@gﬁ]u@@es' - o \

What are the qua11flcat1ons for the appomtment of Governor‘? L

ecb@‘r_smra; ﬁmrﬂsa;uu@a.lg,ﬂ)a;rrm 5@5]656“’ u_nreu)eu’? ;

Write the four challenges of Globahzatlon
I
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Note : (i)‘ . Answer any SIX questmns B ." ‘ : | ' : ‘ o
B _ Grmm@u_l@m <%0 TS EH6E aS]GmL_u_leﬂasa;an ' ' “
@ LAl questlons carry equal marks :
: ] C @@ eflenT&S@HD 10 m@u@umqsm 2 enL-lian. | T
R S PR o 1 . (6%6=36)
9. Explain-the role ofentrepreneur | e '_‘ - |
- Gzmgle @Gmem@a.lmﬂsm Udlenerr- ug),rﬁl aﬁ]aras@as

10. - Fmd the’Area of Tr1angle whosé vertices dre (-3,5), (5 6) and (5,— 2) T

(—3,5). (5, 6) Log)gjl.o (5. 2) %é]u_:a.lg)m,rp (Lpeo)masmrra;a; @asrrasm_ (bossGasrerg,,eﬁm ux;rusmu
asrre&zfras ) p ,, . L

—on 11 What are the obJectlves of IMF? . |

uememrra@gﬁ@mmmuﬂm(IMF) (B;r;n&;a;rmasm,mrrmm? ' - o

I ' 12. . What are the role of Parathoromone" b
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L | 13 What is a chemical equlhbrlum‘? What are its characters?

l

Gmg‘ﬂa am@mm GTEDITED GTenen? e'}lngT uemrrqasm UJrer@J?

14 A torch bulbs is rated at. 3V and 600 mA Calculate it's ..

(a) power

() - resistance ' i

| . S =
C - . S

(c\) energy consumed if it is used for 4 hours. ' , -,

B epatrmy Geumed L&mm@g,g)m pmid 600 uﬂa)e& cgmlﬁlu_lrr L:S]Gb'r@a'rm_t_@m LfLD g(1h L
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S 15. ' lee any two, uses of'radio 1s0topes m ‘the ﬁeld of agr1cu1ture
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SECTION C
ues @
Note : (i) Answer any FOUR questions.
' GrmsuGu_J@Jw BT, aﬁlmwa;a;@as@ aﬁ]mt_u_laﬂasa;mm

} (i1) All questions-carry equal marks.
erébeor aflarmés@pd &0 WHLGLTEET 2 @Lwar.
(i) Each answer should not exceed 25_0 words. :
" @aiQauny eflammefin@b 250 aumisazaErsE Wamnd elamLwiafléseb. _
: (4 x 10 = 40)

How does rainwater harvésting structures recharge ground water?

wenpBi GaLdl iy S{EDLDLILEET areveurn Hlevssy Bl L sms ifslsas Q&uha%]si}rg)m?

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm, -
find the volume of the frustum. , : : '
45 Q&.i8. o wpapeTer F QLS ST gdler @@L{m S IEIEET WeapGu 28 @5 LS LHHID
7 Q&.8. erafien, BN & GERTI_SH 6 S SeTeNeUS HTeHTs. .

What are the powers and functions of the Chief Mlmster relating to the council of
Ministers? -

(WPpSavEnDFFe é{gla;rrr,rréjésm wHmib vaflamer enwésrane Gsmmemu seul.

Explain the following the economic policies :
(a) Agricultural Policy

(b)  Industrial Policy.

EpEanay b Aurmargmy Qararmssmar eflau :
(=1) 'G@errsu'vr Qg rerens |

(=) Qemp Carerans.

What are the risk reduction measures taken before and after cyclone.
HuaéE gpeeapb Gerearph Gupbararer Ceuamiyuw iumu GHie| @ampUL BL-alg &amasamar
GT(LPEIS. ‘ ' : .
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